AFLFERFER (BIRERT)
I % 4 FHENERBUETSE
A LA FHERTEIG2EHIBAREE
AFLELEE(EHE [¥3,599,000
¥ E s ¥3,958,900
M 4 A 4546 H2H
MIEE SHSEE
AFLIEHEE |BBR
+ A £ £
ww =R AfLEKA 215 e P B &
3 (BR)Kith#E 3,470,000
2 = REER (R 3,390,000
&AL R EE 3,370,000
iR €7 =P (FR)
iR BRUCHIRE (FR)
4 B)FmPpkEETE| 3,597,000
iR B AR ER(BR) (FR)
LR IER (BlEER2)
I % 4 FHENERBUETSE
TIE5m FHERTKFREE
FERER BEITE
B =
LHIEEE (F3A) [¥3,707,000
E2 S = SF5F6H 120
T # SH5E6H138 ~ HH5FIA15H
REBL |(BRAERE
DN EFTEH | FERKFIEE402-1
KRES RKE EFLF
WIEE SHSEE
THEHFE |EHRR




AFLFERFER (BIRERT)
I % 4 EENERBIETSE
A LA FHERTEIG2EHIBAREE
AFLE LB g [¥6,759,000
¥ E Al 4% ¥7,434,900
M 4 A 4546 H2H
MIEE SHSEE
AFLIEHEE |BBR
N A £ £
ww =R AfLEKA 215 e P B &
23] (BOKith il 5,900,000
3 BREHRGER) 6,400,000
&AL (R BEE 6,320,000 CIZLBHBICEY %A
iR €7 3= DA (F#iR)
iR BRUCHIRE (FR)
2 ATFEBKZETE| 6,320,000
iR B AR ER(BR) (F#R)
LR IER (BlEER2)
I % 4 EENERBIETSE
THGA FEBAFEE
FERER BEIR
B =
2HIEEE (FA) [¥6,952,000
E2 S = SF5FE6H150
I # SH5FE6H16E ~ RFSEIA15H
REBL |(BRAERE
DN EFTEH | FERKFIEE402-1
KRES RKE EFLF
HIEE SHSEE
THEHFE |EHRR




AFLFERFER (BIRERT)
I % 4 FHERZERBUETSE
A LA FHERTEIG2EHIBAREE
AHLELEE(HHE [¥8,874,000
¥ E Al 4% ¥9,761,400
M 4 A 4546 H2H
MIEE SHSEE
AFLIEHEE |BBR
N A £ £
ww =R AfLEKA 215 e P B &
4 (BRKith 8 8,410,000
3 BREHRGER) 8,330,000
2 (€7 YF =85 3 < 8,310,000
iR €7 3= DA (F#iR)
5 FRVCHHIRE 8,700,000
&AL (B)FEPKELETE| 8,310,000 LIk HMZEICLYEAL
iR AR () (F#R)
LR IER (BlEER2)
I % 4 FHERZERBUETSE
TIE5m FHBTKFER
FERER BEIR
B =
LLH)EEE (FiiA) [¥9,141,000
E2 S = SF5FE6H150
I # SH5FE6H16E ~ RFSEIA15H
PYEEL  |((AFHEMEKBELE
D EEFEH | FAERKXFFEERT0
KRES ¥H B-
HIEE SHSEE
THEHFE |EHRR




AFLFERFER (BIRERT)
I % 4 FHEDRBEHERIEIE
AFLIZFr FHERTEIG2EHIBAREE
AL EHLE(EHE [¥5,833,000
¥ E s ¥6,416,300
M 4 A 4546 H2H
MIEE SHSEE
AFLIEHEE |BBR
N A £ £
ww =R AfLEKA 215 e P B &
2 (BR)Kith#E 5,570,000
3 = REER (R 5,580,000
3] R EE 5,410,000
iR €7 =P (FR)
iR BRUCHIRE (FR)
&AL EFAEPAEETE| 5450000
iR B AR ER(BR) (FR)
LR IER (BlEER2)
I % 4 FHEDRBEHERIEIE
TIE5m FHERTKFREE
FERER BEITE
B =
LLHIEEE (FA) [¥5,995,000
E2 S = SH5FE6H 140
I # SH5E6H158 ~ HH5HFIA15H
PYEEL  |((AFHEMEKBELE
BHEEFRER [FERTKFFELEFT90
KRES ¥H B-
WIEE SHSEE
THEHFE |EHRR




AFLFERFFER (BIFEHR)
I =xE4£ FERTIRIL A — M SIETE
AFLIZFR FHEATRIG2EHIBAREE
AFLE LB 4%
¥ E fit&
G # A 4546 H2A
ELIERE SHSEE
AFLIEZHR |[RBR
N A & &8
w R ALEKA =10 e e & =
35 (B)EBEKITER| 3,450,000
E: 3! HMYEIER) 2,150,000
iR EHIEE (F#iR)

K e RIEHI RS S UIEMER TORALD =R AL




